

GROUP



1
M
I
N
I
T
E
FUSION SAREE

Order ID	Supplier Name	Product Name	Color	Size	Accessory	Avail	Lead Time	Order Quantity	Unit Price	Order Total
00001	Oriental Organics	Zen Brassiere S/S	Dark Teal	Medium	Double-Needle Embroidery, Multi-Stone Handwork	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00002	Luttrell's Satin	Satin S/S	Satin	Small	Double-Needle Embroidery, Highlights, Crystal Rhinestone	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00003	Mermaid's Choice Satin	Mermaid Satin	White	Medium	Multi-Stone Handwork, Sequin Embroidery	Available	Ready to wear	10	\$100.00	\$1,000.00
00004	Mermaid's Choice Satin	Mermaid Satin	White	Large	Multi-Stone Handwork, Sequin Embroidery	Available	Ready to wear	10	\$100.00	\$1,000.00
00005	Tom Teng Satin	Tom Teng Satin	White	Medium	Double-Needle Embroidery, Applique Work	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00006	Tom Teng Satin	Tom Teng Satin	White	Large	Double-Needle Embroidery, Applique Work	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00007	Luttrell's Satin	Heavy Men's Satin	Black	Medium	Sequin Embroidery, Pearl Applique	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00008	Luttrell's Satin	Heavy Men's Satin	Black	Large	Sequin Embroidery, Pearl Applique	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00009	Luttrell's Satin	Heavy Men's Satin	Black	Extra Large	Sequin Embroidery, Pearl Applique	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00010	Luttrell's Satin	Heavy Men's Satin	Black	XX-Large	Sequin Embroidery, Pearl Applique	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00011	Armani Satin S/S	Armani Satin S/S	White	Medium	Double-Needle Embroidery, Rhinestone Handwork	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00012	Luttrell's Satin	Luttrell's Satin	White	Medium	Floral Motif, Double-Needle Embroidery	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00013	Mermaid's Gold Satin	Mermaid Satin	Gold	Medium	Sequin Embroidery, Pearl, Stone Handwork	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00014	Luttrell's Satin	Luttrell's Satin	White	Medium	Floral Applique, Stone Handwork, Sequin Embroidery	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00015	Tom Teng Satin	Tom Teng Satin	White	Medium	Floral Applique, Stone Handwork, Sequin Embroidery	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00016	Tom Teng Satin	Tom Teng Satin	White	Large	Floral Applique, Stone Handwork, Sequin Embroidery	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00017	Tom Teng Satin	Tom Teng Satin	White	Extra Large	Floral Applique, Stone Handwork, Sequin Embroidery	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00018	Tom Teng Satin	Tom Teng Satin	White	XX-Large	Floral Applique, Stone Handwork, Sequin Embroidery	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00019	Crusoe Satin S/S	Crusoe Satin S/S	Grey	Medium	Sequin, Hand Work	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00020	Crusoe Satin S/S	Crusoe Satin S/S	Grey	Large	Sequin, Hand Work	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00021	Crusoe Satin S/S	Crusoe Satin S/S	Grey	Extra Large	Sequin, Hand Work	Back Order	Ready to wear	10	\$100.00	\$1,000.00
00022	Crusoe Satin S/S	Crusoe Satin S/S	Grey	XX-Large	Sequin, Hand Work	Back Order	Ready to wear	10	\$100.00	\$1,000.00



26617

MOHMANTHAN™
Royal



Follow us for updates!

Fabric - Two Tone Satin Silk
Work Style - Stone & Beads Elegant Work.
Accessories - Blouse & Belt.

SCAN THE CODE WITH GOOGLE LENS
TO WATCH AN EXCLUSIVE
PREVIEW OF THE DESIGN



26616



Saree Style :- One Minute Saree

Fabric :- Two Tone Satin Silk

Work :- Dual Sequence Embroidery with
Stone and Detailing.

Accessories :- Blouse & Belt

Additional Stitched Blouse will Incur Extra Charges



Follow us for updates!



Scan the code for an
exclusive video



26615



Follow us for updates!

@MAHOTSAVGROUPOFFICIAL

Saree Style :- One Minute Saree
Fabric :- Soft Satin Silk
Work :- Dual Sequence Embroidery with
Stone & Pearl Embellishment.
Accessories :- Blouse & Belt

Additional Stitched Blouse will Incur Extra Charges



Scan the code for an
exclusive video



26614



Saree Style :- One Minute Saree

Fabric :- Lustrous Satin

Work :- Floral Applique & Stone

Handwork With Sequins Embroidery

Accessories :- Blouse, Jacket & Belt

Additional Stitched Blouse will Incur Extra Charges



@MAHOTSAVGROUPOFFICIAL
Follow us for updates!



Scan the code for an
exclusive video



26613



Follow us for updates!

Saree Style :- One Minute Saree
Fabric :- Metallic Gold Satin
Work :- Pearl & Stone Handwork With
Satin Embellishment
Accessories :- Blouse & Belt

Additional Stitched Blouse will Incur Extra Charges



Scan the code for an
exclusive video



26612



Follow us for updates!

Saree Style :- One Minute Saree
Fabric :- Lustrous Armani Satin
Work :- Floral Motifs With Dual
Beads Embellishment
Accessories :- Blouse, Cape & Belt

Additional Stitched Blouse will Incur Extra Charges



Scan the code for an
exclusive video



26611



Saree Style :- One Minute Saree
Fabric :- Armani Satin Silk

Work :- Dual Sequins Embroidery with
Rainbow Stone Handwork

Accessories :- Blouse & Belt



Follow us for updates!



Scan the code for an
exclusive video

Additional Stitched Blouse will Incur Extra Charges



26610



Follow us for updates!

Saree Style :- One Minute Saree
Fabric :- Lustrous Satin
Work :- Three Sequins With
Multi Beads Detailing.
Accessories :- Blouse & Belt

Additional Stitched Blouse will Incur Extra Charges



Scan the code for an
exclusive video



26609



Saree Style :- One Minute Saree

Fabric :- Lustrous Satin

Work :- Silver Sequins & Dual

Beads Embellishment

Accessories :- Blouse & Belt

Follow us for updates!



Scan the code for an
exclusive video

Additional Stitched Blouse will Incur Extra Charges



26608



Saree Style :- One Minute Saree
Fabric :- Lustrous Satin
Work :- Four Sequins & Dual
Beads Embellishment
Accessories :- Blouse & Belt



Follow us for updates!



Scan the code for an
exclusive video

Additional Stitched Blouse will Incur Extra Charges



26607



@MAHOTSAVGROUPOFFICIAL
Follow us for updates!

Saree Style :- One Minute Saree
Fabric :- Two Tone Glossy Satin
Work :- Sequins Embroidery with
Pearl Handwork
Accessories :- Blouse & Belt

Additional Stitched Blouse will Incur Extra Charges



Scan the code for an
exclusive video



26606



Scan the code for an
exclusive video



Saree Style :- One Minute Saree

Fabric :- Two Tone Satin

Work :- Metallic Sequins Embroidery

With Pearl Detailing.

Accessories :- Tube Blouse, Poncho & Belt

Additional Stitched Blouse will Incur Extra Charges



26605



Saree Style :- One Minute Saree

Fabric :- Two Tone Satin

Work :- Dual Beads & Sequins
Embellishment With
Applique Work

Accessories :- Tube Blouse, Jacket & Belt

Scan the code for an
exclusive video



@MAHOTSAVGROUPOFFICIAL
Follow us for updates!



Additional Stitched Blouse will Incur Extra Charges



Follow us for updates!

Saree Style :- One Minute Saree
Fabric :- Lustrous Satin
Work :- Sequins Embroidery with
Pearl & Mirror Handwork
Accessories :- Blouse & Belt

Additional Stitched Blouse will Incur Extra Charges



Scan the code for an
exclusive video



26603



Saree Style :- One Minute Saree

Fabric :- Metallic Glossy Satin

Work :- Multi Stone Handwork With
Dual Sequins Embellishment

Accessories :- Blazer Style Blouse



Follow us for updates!



Scan the code for an
exclusive video

Additional Stitched Blouse will Incur Extra Charges



26602



Saree Style :- One Minute Saree

Fabric :- Lustrous Satin
Work :- Dual Sequins Embroidery
with Highlighted With
Crystal Rhine Stons

Accessories :- Peplum Blouse
Additional Stitched Blouse will Incur Extra Charges



Follow us for updates!



Scan the code for an
exclusive video



26601



Saree Style :- One Minute Saree
Fabric :- Crystal Organza Satin
Work :- Dual Sequins Embroidery
with Multi Stone Handwork
Accessories :- Tube Blouse, Jacket & Belt
Additional Stitched Blouse will Incur Extra Charges



Follow us for updates!



Scan the code for an
exclusive video